
Rhino SD/XD�G/D
24 Vdc ISO������

P/N 7560463A-02
- Chinese -

� 2006 Nordson Corporation

��  

��：  �����，Rhino SD/XD�G/D 24 Vdc ISO�
	
���
�
���。

���1。
���(1)�Rhino SD/XD������(2)�
�������。������� �!"SD/XD���
����	。


���#$���%&'
(Rhino SD/XD�����
���)。�)
($�，��*#�
���
Rhino SD/Xd������+,-./01�，
234��5+,6.7(。

89��2:9;<12=>
���?�/�<。

1

2

� 1 
���（ �!"Rhino SD/XD������AB）



Rhino SD/XD�G/D 24 Vdc ISO�	
���2

P/N 7560463A-02
- Chinese -

� 2006 Nordson Corporation

6

2

3

1

4

5

10

8

9

7

� 2 
���?�



Rhino SD/XD�G/D 24 Vdc ISO�	
��� 3

P/N 7560463A-02
- Chinese -

� 2006 Nordson Corporation

< 1  
���?�  

�� 	


1 �	DEFG,：  I�6��	DE/�J �，K�J �LM������N�OPJQ/ �。

2 RST�FG,：  I�6�RSU�VW?/�J �，K�J �LM��	XYZ�OP�/JQ
 �。

3 [I25‐psi\M]�/RST�FG,：  ^FG,
�]�_�`abc�VT��	RS/�J。

4 RS
�_：)�d	RS-	/e	_。

fRS
�_]��

� “RST�”��，#agRS��	X:T]�_hi5�。

� “5�”��，#�jRS-	。

� “RST�”��，#fRS��	Xk�b��OP+,�。

��：  lRS
�_��“5�”��m，�J�n�o�����RSU�V�。pqabcRSrs�
	X（��OPtu�'��vX�）/wx，�fT�y�。

5 ��	z{_：l^_|�}~��m，K_fT�����	��hi5�。!z^_，f�)����
:N�。

6 ��,/"�,：�s��5����,#�，#�����/ ������"。

7 ��5�"��：���?����JQ。

8 �	DE
�_：��$�2
��	DE。

9 "$��：��	DE(�_�tu5�/��~!���	��。

10 �	z{_：��������，�%_#�{M�N]���	DE/�J。�%_#�j 6.&¡-
	，'*+
¢&,5�。#�ag'b��	X，'�	DEf*+d	 :� 6.&¡-	。



Rhino SD/XD�G/D 24 Vdc ISO�	
���4

P/N 7560463A-02
- Chinese -

� 2006 Nordson Corporation

��  


�：  .:£¤¥;*¦.p�<§。8¨�

�`�©!���/�=ª«6.��。

��：  ���
���>¬，­®:¯°±²³��/
´$�����/���G。

	����
��
�������
  

���3。�)A��/µ¶(1)�·¸(2)f
����
���������。¹ºµ¶。

2 1

2 1

��!"��（?�）

 �!"��（?�）

� 3 ��
���



Rhino SD/XD�G/D 24 Vdc ISO�	
��� 5

P/N 7560463A-02
- Chinese -

� 2006 Nordson Corporation

�������������  
1. ���4。p�AB，��RST���(1)。

2. ��FG,(2)�!"�»(4)>¼/RST�
��(3)。

3

2

3

2

4

4

1

 �!"RST���
��!"RST���

?�RST���
（ �!"AB）

Y27W8bh46gb6gf1X5eT11N0b deca

� 4 RST��RST�����



Rhino SD/XD�G/D 24 Vdc ISO�	
���6

P/N 7560463A-02
- Chinese -

� 2006 Nordson Corporation

���!��
lB�����（A���B��）F½	
(���¾
�)m，¿À�)ÁÂ5�������Ãf
���
�¾。

��°HJ/½	
(��，89­±²³��/´$�
���。


���"#��$  
1. ���5。�)µ¶(1)fAÄ/�	DE
�_(2)�
���	DE
�_v�(3)。¹ºµ¶。

2. f�Ã����	DE
�_v�。��°�Ã
��，89;±²³��/´$����。

��  


�����ÅK�²³YP。��°HJ/YP9��
��¡Æ，89­±²³��/´$����。

��  

�ÇÈÉ�，8F´$LÊËÌÍ§�Î'ÏlÐ/´$
LÊM<Ñ²。

3

2

1

� 5 ?��	DE
�_��



Rhino SD/XD�G/D 24 Vdc ISO�	
��� 7

P/N 7560463A-02
- Chinese -

� 2006 Nordson Corporation

����  

���6'7。89;��É�<。

�� P/N �� �� ��

— 1044768 Module, controls, electric, 24 vdc ISO 1

1 1046891 � Panel, controls, bulk unloader 1

2 901245 � Gage, pressure, 0‐100 psi (0‐7 Bar) 1

3 1043084 � Regulator, air, 1/4 NPT, with check valve, panel mounted 1

4 124797 � Valve, rotary, 3 position, 1/4 ports 1

5 901252 � Gage, air, 1/4 NPT, psi‐kpa‐Kg/Cm2 1

6-7 ‐ ‐ ‐ ‐ ‐ ‐ � NOT USED ON THIS CONFIGURATION —

8 1029522 � Regulator, 3/4 NPT, 8-125 psi 1

9 1043086 � Regulator, 3/8 NPT, 25 psi, with check 1

10 ‐ ‐ ‐ ‐ ‐ ‐ � NOT USED ON THIS CONFIGURATION —

11 1043446 � Plate, spacer 1

12 1043425 � Base, manifold, ISO size 3, 3/4 NPT, 5‐port 1

13 1029952 � Manifold 1

14 1029533 � Filter, air, 3/4 NPT 1

15 1030866 � Valve, ball, vented, 3/4 NPT 2

16 ‐ ‐ ‐ ‐ ‐ ‐ � NOT USED ON THIS CONFIGURATION —

17 324896 � Grommet, rubber, 0.812 ID x 1.25 OD 2

18-19 ‐ ‐ ‐ ‐ ‐ ‐ � NOT USED ON THIS CONFIGURATION —

20 973103 � Nipple, stl, schedule 40, 3/4, 1.37 3

21 973252 � Nipple, hex, 3/4 x 3/4 x 1.96 1

22 ‐ ‐ ‐ ‐ ‐ ‐ � NOT USED ON THIS CONFIGURATION —

23 327109 � Nipple, stl, Schedule 40, 3/4 x 6, galvanized 1

24 1030650 � Connector, female, 37, 1‐1/16‐12 x 3/4, stl zinc 1

25 972583 � Ell, male, 37,1‐1/16‐12 x 3/4, stl 1

26 124795 � Fitting, hose, 3/4 barb x 11/16 2

27 973140 � Elbow, male, 45d, 3/4 NPT x 11/16 1

28 973442 � Plug, pipe, socket, flush, 3/4, zinc 1

29 124851 � Muffler, 3/4 NPT, 40 micron 2

30 973226 � Ell, pipe, 3/4 stl 1

31-32 ‐ ‐ ‐ ‐ ‐ ‐ � NOT USED ON THIS CONFIGURATION —

33 972194 � Elbow, male, 3/8 tube x 3/8 1

34 ‐ ‐ ‐ ‐ ‐ ‐ � NOT USED ON THIS CONFIGURATION —

35 971177 � Connector, male, 3/8 tube x 1/4 NPT 1

36 971265 � Connector, male, 1/4 tube x 1/4 NPT 3

37 971266 � Elbow, male, 1/4 tube x 1/4 NPT 2

38 972183 � Elbow, male, 3/8 tube x 1/4 NPT 2

39 ‐ ‐ ‐ ‐ ‐ ‐ � NOT USED ON THIS CONFIGURATION —

40 1040700 � Elbow, female, push‐in, 1/4 tube x 1/8 FPT 1

41 972119 � Elbow, 1/4 tube x 1/8 NPT 1

42 972000 � Connector, male, 37, 7/16‐20 x 1/4, stl 1

43 973483 � Plug, pipe, socket, 1/8 in., steel 2

44 973411 � Plug, socket, 1/4 tube 4

�...



Rhino SD/XD�G/D 24 Vdc ISO�	
���8

P/N 7560463A-02
- Chinese -

� 2006 Nordson Corporation

�� P/N �� �� ��

— 1044768 Module, controls, electric, 24 vdc ISO 1

45 973431 � Plug, pipe, socket, standard, 1/2, zinc 1

46 1010810 � Tubing, 1/4 OD Polyethylene, flame‐resistant AR

47 1010777 � Tubing, 3/8 OD Polyethylene, flame-resistant AR

48 ‐ ‐ ‐ ‐ ‐ ‐ � NOT USED ON THIS CONFIGURATION —

49 124792 � Hose, 0.75 ID, 200 psi AR

50 981710 � Screw, hex, 3/8‐16x 0.750, cap, zinc 4

51 ‐ ‐ ‐ ‐ ‐ ‐ � NOT USED ON THIS CONFIGURATION —

52 981402 � Screw, hex, 3/8‐16 x 1 4

53 983160 � Washer, flat, E, spt, 3/8 4

54 983061 � Washer, flat, E, 0.406 x 0.812 x 0.065, zinc 8

55 345840 � Nut, hex, regular, 3/8‐16, zinc 4

56 338844 � Screw, socket, 5/16‐18 x 3 2

57 ‐ ‐ ‐ ‐ ‐ ‐ � NOT USED ON THIS CONFIGURATION —

58 345836 � Nut, hex, 1/4‐20, stl, zinc, 14441-GA 2

59 345977 � Washer, lock, E, 1/4, stl, zinc, 14451-GA 2

60 971672 � Connector, male, 1/4 tube x 3/8 NPT 1

61-62 ‐ ‐ ‐ ‐ ‐ ‐ � NOT USED ON THIS CONFIGURATION —

63 984120 � Nut, hex, machined, #10‐32, stl, zinc, 14448-FA 4

64 981176 � Screw, pan, 10‐32 x 1.500, sl, zinc 4

65 983123 � Washer, flat, E, 0.219 x 0.500 x 0.049, zinc 4

66 983120 � Washer, lock, E, spt, #10, Stl, Ni 4

67 1025108 � Screw, drive, rd, 4 x 0.312, zinc 2

68 981907 � Screw, drive, rd, 4 x 0.250, zinc 6

69 981211 � Screw, hex,1/4‐20 x 0.750, cap 2

70 345913 � Washer, flat, regular, 1/4 , zinc 2

71 1034396 � Muffle, exhaust, 1/4 NPT 1

72 973276 � Tee, pipe, straight, 3/8 x 3/8, brass 1

73‐74 ‐ ‐ ‐ ‐ ‐ ‐ � NOT USED ON THIS CONFIGURATION —

75 1040926 � Label kit 1

76-78 ‐ ‐ ‐ ‐ ‐ ‐ � NOT USED ON THIS CONFIGURATION —

79 345938 � Washer, flat, E, 0.375 x 0.875 x 0.083 zinc 2

80 345978 � Washer, lock, regular, 5/16 2

81 984449 � Nut, hex, regular, 5/16‐18, G8, zinc 2

82 901240 � Gage, air, 0-30 psi, 0-2.1 kg/cm 1

83 983083 � Flat washer, 0.438 x 1 x 0.083 4

84 1004377 � Clamp, hose, 1.125, crimp, double‐ear 2

85 1065690 � Bracket, mounting, regulator, 3/4 NPT 1

86 1065691 � Bracket, mounting, filter, 3/4 NPT 1

AR： As Required：¨Ä�



Rhino SD/XD�G/D 24 Vdc ISO�	
��� 9

P/N 7560463A-02
- Chinese -

� 2006 Nordson Corporation

%&'(  
8f��<¥]�Ò�ÓÅ/ÐÔ，�QÕ�cm¼。

�� P/N

Filter element, 5 micron 1057764

)*��"#��$  
�����	DE
�_。

P/N ��

1044953
Size 3, 24 Vdc, 2‐position,
4‐way,�SMC

�����  


�BÖ�1038936B01×B��T+：

� ��

1 Electric Purge Button

2 Pneumatic Purge Button



Rhino SD/XD�G/D 24 Vdc ISO�	
���10

P/N 7560463A-02
- Chinese -

� 2006 Nordson Corporation

^ØÙÖo5。



Rhino SD/XD�G/D 24 Vdc ISO�	
��� 11

P/N 7560463A-02� 2006 Nordson Corporation

75A

75B

75C

75D

75E

36

2

41

36

3

5553

1

40
4244

44

35

38

75A

68

7164
4

37
63

66
65

59
58

83
53

55

67

17

33 9

60

69 70

82

79

80
81

20

15

30

86

20

14

54
52

44

38

44
29

43

26

12

29

21

45

13

26 25

8

85

52

5454

5

20

15

24

23

36

72

37

11

43

28

27

68

75D

75B

75E

56

68
75C

RST�

É�85?"

É�86?"

É�4?"

É�3?"

É�2?"

5�

RST�
FG,�ÚÛ,

RST�

]�/RST�
FG,
25 PSI

�	DE

�_

�	DE
z{_

FG,�ÚÛ,

� 6 
���É�



Rhino SD/XD�G/D 24 Vdc ISO�	
��� 12

P/N 7560463A-02� 2006 Nordson Corporation

54

50

54

46

46

49

47

47

84

46

50

��!"��（?�）

47（34.75ÜÝ）

（19ÜÝ）

47（43.5ÜÝ）

（18ÜÝ）

（4.75ÜÝ）

（5.25ÜÝ）

（11.75ÜÝ）

（12.75ÜÝ）

 �!"��（?�）

� 7 
���É�



Rhino SD/XD�G/D 24 Vdc ISO�	
��� 13

P/N 7560463A-02� 2006 Nordson Corporation

U2

PS1

B1

D2

4

1

5

S3

S2

S1

2

3

S1

5 31

2

DP1

3

2

U1

S3

1

4

D1

U1

M1

S2

PS1

L1

E2

E3 S5

M2 B1

M1

4

DP2

1214

DP3

DP4

D2

S6S7

L2

S5
DP3DP4

DP2 DP1 S2

DP4 DP3

DP2 DP1

S4

12

14

U2

M2

S5

Þ¯�1038936B01（<1，U2ß<）

 j�
_
N]àá

�1：������

<2：�	âã¨ä

�	DE

1/4ÜÝP�

1/4ÜÝP� 3/4ÜÝP�

1/4ÜÝP�（5�30ZW）
3/8ÜÝP�（55ZW）


�åæ

1/4ÜÝ��

1/4ÜÝ��

1/4ÜÝP�

"$��

�	DE
z{
ç_

FG,
]�/RST�
[I25 PSI

FG,
�	DE
125 PS1

ÚÛ,
RST�

FG,
RST�
125 PSI

#èé
bJ��


�_
RST�/T�

��	
��,
5��

��	
z{
ç_

��	
��

�
�
�

� 6

�	DE

�_

#èé
~!
��

#
è
é
b
J
�
�

AUTO-FLOêë

~d

!z

�	��

]�
ç_

������!"

6

6

6

D1

������



Rhino SD/XD�G/D 24 Vdc ISO�	
��� 14

P/N 7560463A-02� 2006 Nordson Corporation

U2

PS1

B1

D2

4

1

5

S3

S2

S1

2

3

S1

5 31

2

DP1

3

2

U1

S3

1

4

D1

U1

M1

S2

PS1

L1

E2

E3 S5

M2 B1

M1

4

DP2

1214

DP3

DP4

D1

D2

S6S7

L2

S5
DP3DP4

DP2 DP1 S2

DP4 DP3

DP2 DP1

S4

P1

S4

12

14

U2

M2

S5

Þ¯�1038936B01（<2，U2ß<）

 j�
_
N]àá

<1：�	âã¨ä

�2：������

�	DE

1/4ÜÝP�

1/4ÜÝP� 3/4ÜÝP�

1/4ÜÝP�（5�30ZW）
3/8ÜÝP�（55ZW）


�åæ

1/4ÜÝ��

1/4ÜÝ��

1/4ÜÝP�

"$��

�	DE
z{
ç_

FG,
]�/RST�
[I25 PSI

FG,
�	DE
125 PS1

ÚÛ,
RST�

FG,
RST�
125 PSI

#èé
bJ��


�_
RST�/T�

��	
��,
5��

��	
z{
ç_

��	
��

�
�
�

� 6

�	DE

�_

#èé
~!
��

#
è
é
b
J
�
�

AUTO-FLOêë

~d

!z

�	��

]�
ç_

������!"

6

6

6

6

OP
âã_

N]

�V

������

�ì8/06

Þíî�ïðñ 2006。Nordson、Nordsonòó�Rhinoô´$LÊ/ô/õ^öò。
�Asöò÷�½øùAs。- Þí��ú� -




